ret := mutex_init(mut)

ret := join(2)

ret := join(1)

et := create(1)

ret := create(1) SKIP [SKIP

ret := create(2) ret :=join(1) [ret0 := mutex_lock(mut)

temp := malloc

temp->next := li

emp->val := 1

(li = NULL)? SKIBNOT ((li = NULL))? SKIP

temp->next := li->next

temp->next := temp

li->next := temp

retO := mutex_unlock(mut)

et := create(2)

SKIP SKIP

ret :=join(2) Fret00 := mutex_lock(mut)

NOT (NOT ((li = NULL)))? SKIP e NOT (NOT ((tempO->next = 1i)))? SKIP \ NOT ((tempO->next = 1i))? SKIP femp0 := tempO->next

free(temp0) e

li := NULL free(li)
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NOT ((li = NULL))? SKIP

emp0 := li->next

(tempO =11)? SKIP \NOT ((tempO = 11))? SKIP

tempO->next := li->next

li := tempO

ret00 := mutex_unlock(mut)




